Ea—# 1=vh ASAHI

UCPAJ

I
L UffE =
EIEVNZ

I @x(
NN

!
|

o 2
K] 1 Al
L
. NN A
##H%:12~50mm
#@E | 1-vh F Bk (mm) WMo WSRO 1zvk
o | EATHEEKN) OEE
TR D FUOES A
(mm) | WO®ES | H L oA N ¢ W W B s - - HOES (kg)
12 UCPA201 30.2 76 38 52 M10X1.5 12 8 62 31 12.7 UC201 12.8 6.6 PA204 0.55
15 UCPA202 30.2 76 38 52 M10X1.5 12 8 62 31 12.7 UC202 12.8 6.6 PA204 0.53
17 UCPA203 30.2 76 38 52 M10X1.5 12 8 62 31 12.7 uC203 12.8 6.6 PA204 0.52
20 UCPA204 30.2 76 38 52 M10X1.5 12 8 62 31 12.7 UC204 12.8 6.6 PA204 0.50
25 UCPA205 36.5 84 38 56 M10X1.5 15 10 72 34.1 14.3 UC205 14 79 PA205 0.72
30 UCPA206 429 94 48 66 M14X2 18 10 84 38.1 15.9 UC206 19.6 11.3 PA206 1.02
35 UCPA207 47.6 110 48 80 M14X2 20 12 95 429 17.5 uc207 25.9 15.4 PA207 1.58
40 UCPA208 49.2 116 54 84 M14X2 20 12 100 49.2 19 uC208 29.3 17.9 PA208 1.84
45 UCPA209 54.2 120 54 90 M14X2 25 12 108 49.2 19 UC209 33 20.5 PA209 2.06
50 UCPA210 57.2 130 60 94 M16X2 25 14 116 51.6 19 UcC210 35.5 23.2 PA210 244

i 1. EHZ O LB ER152R— TR
2. ZV—=RA=y T VIE, FRT1/4—28UNFEL TS,
3. WA L EDODBDIF168X—VITR T,

34 35



